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Linear regression model (robust fit) for dspl/t

y~1+x
y: response variable (dspl/t)

x: predictor categorical variable with 3 levels (control, VEGF-A and VEGF-A+VEGF-C)

Estimated coeeficients:

Estimate
Intercept 0.91951
X -0.33827

SE
0.061376
0.08392

tStat
14.982
-4.0308

pValue
4.59E-2

0.00017248

Number of observations: 58, Error degrees of freedom: 55
Root Mean Squared Error: 0.274
R-squared: 0.322, Adjusted R-Squared 0.298
F-statistic vs. constant model: 13.1, p-value = 2.26e-05

Case order plot of Cook's distance
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Linear regression model (robust fit) for cumD/t

y~1l+x

y: response variable (cumby/t)

x: predictor categorical variable with 3 levels (control, VEGF-A and VEGF-A+VEGF-C)

Estimated coeeficients:

Estimate
Intercept 1.1263
x -0.29446

Number of observations: 58, Error degrees of freedom: 55

SE

0.066193
0.090506

Root Mean Squared Error: 0.296

R-squared: 0.235, Adjusted R-Squared 0.207

pValue
1.42E-23
0.0019514

F-statistic vs. constant model: 8.46, p-value = 0.000626

Plot of residuals vs. lagged residuals
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Plot of residuals vs. lagged residuals
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Normal probabilty plot of residuals
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